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Passage:

Toba:— SfeliferRad Tt uida@r uyMT [aperere a: Sfudany S8 fd ferad|

FEHIAGRY fAfIUTHRIOT FAFT TS SR: forad | TJeTq, Iriferamwed, faaman, [HaT 91 Agugeeg: STHGRIIRYAdH U4 SIeTadd: T Iq
9 T3 WRAYYF! SuH: fRmane: | e sade: 9 il sriitn pd: geae: oift dul gie IR | awi ggaa: HIoRiaa: 9 FRlem | o aaeH
Rteonf, il T 99 99 9o 3 Od: ey [ STl fediaTg vald | 7 RE: AIgiddedn: T Weud e Ueey: |

7] Ve SFUBR: T UG FRIEE: 3 T ol | oG RE FRIYAA T3: 3afs oragR: | ieafd GuF sad s6: 3 srafgaa

Q.No: 1 ASHIAERYT B FHISH SRATY: fbaa?

A ST |
B HISHFH
c A
D BISHH

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:
Hahe:— SfeifcrRa TRt ufdwr Ty fadberare ae: Siadady Su) fd forad|

FABTAGRI AAUTBRIOT JFT THS SR foad | g1, Irmformaend, e, THaT 91 Agiigesg: STHGIIRYAHI T STiiwTadd: €=t Iq
Y T3 RATYFT S0H: fRMAN: | STedrd dlad: 96 i i gd=: gaaer: sy A g IR | auf Jaed: HSoRIaa: 9 3 FRem | or: aradHG
e, sftrefe: T 77 a3 adw 3i 9a: Iaea| fawed: SaeH fadiafe Yot T TRS: IRuaded: Y@l $egd [ae Jegd: |

T T SUBR: T UG PRI 3 T ol | sFRERE FRIYAA T3: 3afs SagR: | iedld GH sad 86: 3 srafgad

Q.No: 2 qasH! fgdaTg &: Hafd?

A TR
B PIeEIH|
c Teremrer: 1

D EicHcesl

Correct Ans : C
Subject : Sanskrit Bhasha 02

Page - 1
Passage:

Tobe:— SfefcrRac T Uidr T fahedrard v Sfadady S} e ferad|
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SePTRIGR Y fAfGUTBRION T GHIoH SRHAT: 52 | 6T, AHIGHEA, [, WrHar =1 AqugIesia: JTHGRIARTEI U4 sieprelees: T =q
9 ROAYYE! ST faemar: | Sreasra srad: g M sraffr gd-a: gease: ot dul gl SegRi | aut ygwa: umuRlas: 9 @ e | s s
e, siftref: T o o7 ad= 3fa 99k o) faemas: SaeEl fidiang Yaft | 7 TRa: Agfigge: Yo Jeyd faei veey: |

7 TS SUBR: T Veaw FRIY: 310 7 31ef: | SRMFHSRY FRIYA TR: 3dic deR: | Sradfd I 308 on: 3fd saigad|

Q.No: 3 T JGW SRTR: 3A%:?

A 3
B T
C Bl
D Edl

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Haba:— srefoiad e ufdan vt fibererpava: Skudaay sw e feradl

FEAPTeNER Y fAfqeTaRIvT M THISH SRI: fFad | TeTd, I HeAd, e, WgHar 91 Agugee: JTHGRIREHT Td SierpaTds: T2 oq
TG ROAYYF ST faemare: | Sreasma srad: g i sraffn gd-a: geaer: offt Jui gfe SRy | aut ygwa: ymuRlas: 9 @ e 1 e aere
Rtaonf, siftrefa: 9 93 93 9~ 3fd 9d: FdeaH| [deae: rasri fediang Hald | 3 1Re: AIgitqdedn: YT Qeyd e ueey: |

T YR SUBR: T Nea RIY: 3 T o | sMRaRe FRiYAA T%: 3dfc oragR: | B6afd QN sad o6 3 wagad |

Q.No: 4 qNi ygwa: UWURad: 9 d fRtem 1 &2

A STHAHT: [
B TRa:|

C e

D SIeIPT: |

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Tobek:— SfeNfRad Tei™t ufdan vyt fasedrard g Sfudany S i foad|

SIHIAGRY fAfIUTHRIOT FHHT TS Sref: f55ad | TeTd, T aeTd, fammeand, [HaTd 91 AgRgIeeg: STHEIIRYGAT T4 Sifidas: S 3q
F TF WRAYYF! ITH: faemars: | Sresra srad: 9 it st gdwa: Taaer: Sty aul gt Ieg=ify | aut ygaa: vsoRiaa: 7 FRtemT | o aasre
e, siftrefa: 9 a3 7 T Sia 9d: FaeH| faeres: e g Hafd | & TRe: Agiiadedn: 4@l 95qd fae Jagd: |

T Yo SUBR: T UG FRIe: 3 T oef: | SgFREGRR FRIeAA T3: 3afs IaeR: | Sedfd SvF sad 8n: 3 srafgad |

Q.No: 5 Breafd G 30 &: TGER:?

A T=:
B fRrer:|
C ||
D §Iet:|

Correct Ans : C
Subject : Sanskrit Bhasha 02
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Passage:

Hopa:— SfeNfoRad et ufeen vt s erareav: Sfadaaq S fuar forad

FreupTaTeR fafauyeRIv M T srfi: fFad | eI, SMieeHe, e, YA 91 TRqeem : STHIGRIORYEd-I T4 Sifempramd: 3= =i
T 79 RAGYFT S: foemars: | STasra siae: 96 i Sty gd=a: Taaer: o aul gfe IR | auf ggaa: yeoRiaa: 9 o FRlem | or: araeMie
Ftgon, siftrefa: 9 97 93 ad~ 3fa 9a: Faey)| feae: aaer! fediarg waf| 3 TRe: Agiiqgen: Yol Weyd e Uegg: |

T YEW SRBR: ¥ g W FRIY: 3 T o] SHRGRE FRIYAA To: 3dfo F1aegR: | J5afd g sad 86: s aflgad|

Q.No: 6 ¥ - Xsgan HI faufad:?

A feetam
B o
C Tgdfi
D CEL

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Tara:— reifoRad et ufdn vyt scareava: Sfadaay S o forad

AABTAGRS TAIUTBRION FHHT TS SRA: 35| TJRTd, Iramforaaed, faemadnd, gHard 91 AgRIqesg: JTHEIIRIAAT T Sifidarde: e 3q
T Td WRAVLF! 3T9: feman: | Sicdrd sias: I fiftran sraffn gda: gede: s aul g S | aut ygaa: YNoRlaa: 9 @ Afer | ofd: SdasHe
Flteront, siftref: 9 @ 99 ad= 3fa 9a: Jaew| faenas: SaerT fedag Yafd) 0 TRa: Agiigde: YT 98qd 9= ueed: |

T YeEW SRBR: ¥ ea W FRIY: 3 T o] SRHRGRE FRIYAA T: 3dfc FIaeR: | B G sad B: 3 afgad|

Q.No: 7 Sd%: $T: ITHCIRUGII SRET?

A TR |

B foena:|

c HIGTRSHYE: |
D geftuafderg: |

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Tba:— SreNfofed et ufean wumt Aserareava: Sfadany S o ferad

AHTAGRS fAIUTHRIOT FHAT TS SR: 35 | -1, Traifoisaed, faeaand, [HaTd 91 AgRIgesg: JTHEIRIadHT T Sifidarde: T 3q
T Td WRINLF 3T9: feman: | Siesrd siae: 99 fiftran Sl gd-a: aeae: oft dut g S | aut ygaa: YNoRlag: 9 e | o SdaHe
g, sl 9 7 99 ad=d 3fa 9a: Fe| faenas: saem! fgdiag Yafd ) & TRa: Agiigged: YT $8qd e Ueed: |

T YeER SRBR: ¥ e W FRIY: 3id T o] SRHRGRE FRIYAA T: 3dfo FIa8R: | BIGald GINH 3ad BE: 3 afigad|

Q.No: 8 a: HJiUGgedT: Yedl HuH fdei yegg:?

A JURIgEH|
BUTEA|
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et

B
o FUgEY|
D IR

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Tha:- sfeifofed e ufean wym fisaraeana: 3fuaary I fuar foal

Il We: TRARAT g5l dagh:
AN AoHAd GEgIHaey: |
YT e GHT: AR
ol 9d STe=fe} mivmt gnaf 1

Q.No: 9 T, HE FEY: Fal griafd ?
A T SeRIUee qof

B TR TH: o

c s o ot

D T et qof

Correct Ans : A

Subject : Sanskrit Bhasha 02

Passage:

Hha:— sreNfiRad veiel ufean vyl fidpaae aea: Ifadand S fuwr foadl

TSI G TRAYRT gl Araeft:
PR GOTHAA GBI a: |
o7} e RIS AR
ol §d Se=fter Wi gnEf 1

Q.No: 10 &=l S Tafaee: &: ?

A B
B i

c R
D e

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Tara:— SfeNfoRad Uil ufdan waml fadpearard a: Ifadany S foraal

T WE: RAYRAT gl st
AN AoFHAd §agIHaay: |
o7} Qe RIS AR
Ul §d SoRfUaR W gREfT 1|
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Q.No: 11 "HraNg" ST $: GHNE: US=ad ?
Sy

wEl Tge:

BHYRY:

fe

Correct Ans : B

Subject : Sanskrit Bhasha 02

A
B
C
D

Passage:

Toba:— SsreNforfed vzt ufean v fasearasaea: Shuaay S fawr foradl

Tl g TRAYRAl ol dras:
PN oA G@elideny: |
o7} e GRIBAT: AR
quf §d Se=MUsR Ut gR@Ef=T 11

Q.No: 12

A Jax{

B Rr:

C Bic:
pici

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

Taa:— HeNfofed wermst ufdan wsm faseaadaa: Ifuaary Sw fawar foraal

T e ARl g5l A
PRI GOHA G@RIHGey: |
1] UR JRITANS: FeHmEaR T
ol 9 STa=fsy Wit graf 1

Q.No: 13

A
B
C
D

Subject : Sanskrit Bhasha 02

Passage:

Uha:- sreffoied gt ufean usm faserere aa: Ifudary st fuwr foradl
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THGT STe25T Flsa:?

o
e
o

Pl

Correct Ans : C
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T H: WAL gl A
FIARTg WAl g-@elHidans: |
i I GRIGAR: AR
gof bd Sexfer mivFT wmafy 11

Q.No: 14 & wdIF feparae fe?

A GRICIE|
B wR
o g
D ius]

Correct Ans : A

Subject : Sanskrit Bhasha 02

Passage:

Hoha:— SfefoRad weisi ufdan vyl fAdpeaere aa: Ifuaany S o foraal

T W WRAYRAT Il A
PR JOFHAAN gagIaan: |
o R YRR AR R
Ul §d So=fex wiftHT gnafT 1

Q.No: 15 yw¥IRd & ST

A et

B TR

C RIEE GINGS)
b

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q:No: 16 "HIAIR: -~ SFARY e AICHRIS®A Wi e vy
A rem

B HIe:
c ey
D b 510

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 17 Wq—q—ﬁaa _

A T

B agIRSDH
C AR

D HADHAT

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 18 idT --- Bar i s R & ud ggfaa?
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A SO
B SO
c ST
D SO0t

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 19 SR I Frmaend sragdivam:?
A wafd

B e
C G3)1]
D ECR

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 20 g Bidfde FH?

A fafad
B Pifae
c aqfad
D i

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 21 3 ared e -

A FH g U

B T YT ST

C foe: g B
D T g1 T SuRaq

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 22 JARRGUES G fHH?

A SR W

B R I “\‘If%?ﬂ

C S Tavie TE:
D SICRASTFARID 341

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 23 U=g+dedd 74! A b wur?

A yi=saos
B Ry
c pLeasl
D Pl

Correct Ans : D
Subject : Sanskrit Bhasha 02
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Q.No: 24 BHEY YAURY YgRT: UG RV fagd: Mépiargtd sl
A UTTSETRITET

B STHTRIGTOR
C e
D Pl

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 25 UIGIYRaH 3T I: A AR -

A UG T HIq

B HISTTT: YET WG4 & Sgure Haq
C UTST: SRET: FMHAGTRN: I

D YT Wy g gere palq

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 26 &=HTaHTSI UM oY Jeaiiadh ey HINTRIEU Sfadd i ~

A SfaRTHTSTT: fAf- i -araT, Siftreiies: Snarg:
B TRER HATIRIGH SHPIaERIvT oy
C BRIV YU-AET-P IR Fa ARG SEaRIEH

D B YN IIE: Hof ATIBTRGH Saw—yEH

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 27 FEfITEA SRea R WM 9| 3 fh oM gy sif&i?

HhgaTH ERA— JUGTH — TR

A TifepRom

B farerom

C AR
AIRTp-IgeH

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 28 SFHGEMI: Td: HAUS: UG TeUew faueH Iqy ¥y Fal Tdd JEM U6 U Tl | S, 998 I98Y WHIRY 1 gl T WERE-RI:
TRERY MEH-TGH ai | T o Srquirenenar tet 9ol (Table) TRafT | Tom da, a1 digsaw Reading' 31 1704, SR 9 SING- Ao

FRIEAT TA?
A - HTU]- B IRITaN:
B -4V~ CrG -SRI
c -4V HT V- B IR
D G- TG-S IRIE

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 29 greuferarTl Ia-- rufferd Wreaed 31 F1g U & Feload] 2

A Uiy Ui wgaa off g T
B IRAUCITI-TIH.

c Y U9 Yo IR

D SHeATIH: TGUIS! aT Y¥eT:

Correct Ans : A

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

8/53
Page - 8



Subject : Sanskrit Bhasha 02

Q.No: 30 fifdsT BENT: HEIfEq Te-mar: faavel & Pinfa awi & s UTdaw:, ITeH ST 3dH SFYda: | 0% $d I BE: TSdH calld, TUT-H 9

........ Fal gfed safe| T 91 Wae it

f

A
B
C
D

FREHIERIGHIT
Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 31 Y1 Gded H {5 UsR FY T g =1fe?

A wfefds

B WP BRI
C IR GEAR]
D T Ot TER &t

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 32 ¥ arH 49y fafy e @

A T & frg

B Piaar & fag
e FEF & forg
D ITN & o

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 33 die B T Howul §

A JeRamft

B T wd R & SFIER St a1 g W
o WY T4 Y SHARY

D SIABING YTHT BT TART

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 34 i@ ST, 3Midha SR SFSRH & dig P TP GRT TR HT T el B

A & frg; wedl
B P fog; iR
C ar;ﬁmm
D @T; 3R

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 35 W ¥ falky' &1 Rigia e & ¥ forad v gar g2

A STORoT fafy
B FaRor iy
C o fafy
D e fafy
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Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 36 31&R BTSI & GRI WUsE I, Xeg & [gool, 3eRYf BT SiS B! F1 B o1 Fgd 82

A
B
C
D

W TS fafy
ey fafy
Yrare fafdy
T fafdy

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 37 = & I UIoyRd® BT HTTAHD U&f PH-T 52

A

C

D

e
Eiceg

qaq&s
forere i gEys

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 38 A T & HH-UT U S I=ARUI BT HRU §?

A
B
C
D

(&R I

TS @9

T dl S&R T A1 Yael
TR A fdorR

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 39 = & & yror fRe0r &1 YT I-T T 27

A
B
C
D

Had ugaR orf TG IR TS

I G B! T DR GO 6P

Fad SR ST T T TP

TeaR o TR IR U, TP ST T FT T @GR PTG GAPR 90 G

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 40 TH.TH. dRTIGH! & IR

A
B
C
D

YIS T STl vt 81

RieT T Y Fruffea T w21

UTST Td i Toh-gaR & Wdd wU 9 fiela g1 gl
yro1 fRie @Y Fefifa wwar @

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 41 = wo @i & Ry

A

B
C
D
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Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 42 =/ 78 § § frae) gy ursy o%g 32

A HTST
B il
c ®
D SRl

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 43 oo & o7 g 82

A oreg i
B @ af
C IR
D graf

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 44 fofafad & & $H-91 S99 g1 82

A T IR il & g B P¥a ey 72 Sl

B ot St B B SR ffae urer &5t e & it aoh ¥ sew o <&l )
c fy it Tl 4 O | Feea v € R § T2 R o ot @

D amoft =l S §

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

g AR 3T MU RN F ugaR g U URAl & 9ad IR SR a1 f[dhed S 99 Hifere-

URA & 7ITq URA &I YR 6T 3R WPl & Ufde g1 7 HRaay St 31l § 3R g0l URA 3761 IRR | IRR St I offan ot W fRufa R FnRk xar g1 s
P W T W € YUl IRR T FaATT 3R TIET BT TR Bl 81 3 1 YR I 1S Tl SeRen Tiiar § € 99t §1 el e #Rd 3 YR &7 gy wial
AT 8, TG B S0 T URA BT I & Tbo g Tiiar B € Jar 3R ufem F aar fHuH S €19 URa 3 I gt I 8 il 7 99 SIsul YRd @t
Il R ot 3 R TR sifg Tiie @t A W AU SRt §1 o A B B SR 31 R B HeThia GREFE dd 7 R Wrdl ITHaTR S Sigar J
3P @ Tl § T URdad &1 ardfde @y TMial # g1 WAl & gd A ofR T &1 g0 9¢t g R fdhdr, R ¢k y@mst $1 -7 i g Al
STre AR SR B Siffl feT-1a ererpelt Ygat Y1 fava & fora of 3 a st off, et YuRkum Sik gwaRum U, 39 a1dl | SH®T SIS e a1 ATl
SlaTu &) W YurTell I 119 a1el SURfEd 31 9% Siiad # 9uy $ F U aRedl, srawid, SR 81 dgd A1 SHiRian & Y-y el ot onfe fufq 31

g o e <R s, SiufaRan SR sifRien o1 gof Ay Al

S 99 URISH & G-I I HYOT ofia 07 ¥ &9 Xgd 31 HiY 3 IR 30 J6-UgeR A ard ¥ HY $F a0 off A g8 O URa &1 e uela R R

TgdT 1| 98 T 3R Sfiq onfeaiRt & s & ¥AM Tl

Q.No: 45 Iudad T F o = o § Iafoq 2ife &1 9a7 Fifve-

A ST 3

B GG Ud B Bl
c TifaY T ¢ WRA

D Tl % fER

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

w3 U TR $) UgaR 08 U URAl & 9Ed 3R IR a1 fadmed &1 99 Sifere-
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UYRA F Tiid URA P TR T $iR Tpha F vl &1 i URday ot ofel § oiR Tyuf URd ITHT IRR | IRR B I M1 F @ R R 1R Far 21 sra
F @R B R & Tyl <RR # TR iR o= o1 TER ST g1 31 o YR B 916 ufiwrd serae Tiidr & g st 31 il et vy & URd 31 ged il
AT &, Tiidl Bt I-Ta T € HRA BT I~d &1 Toball 71 7ial H g a1 IR uRYH & SadR fbam a9 §1°31d: HRd @ Tl Sifp! 3T 81 ot 7idl & =d o138l YRd &t
It TR @t I R AR eifig Tilal @ Il W R Sl B1 o IR &1 R RGBT S B TRield giEred Ud A R AT WA TS Sidar §
3P & F81 § 76 URaad &1 aRafas ey Tidl § §1 oAl & gd wrE $fR Jrion &) gxn 9t g i fdar, S ok yemt &1 H-T e g Al
SR R ST Bt S fe-v1a wererdht Tgdht < fava & fora ot = F SIS oft, SuwT AT YURUIA SR goIRuH gU, 3 a6l ¥ ST B gey =g |
ST &1 WG YOIl & TMid ard SR 41 9@ siad # Jay o & fu gRedT, SRawidr, SRl o agd 1 SR & r-ury aHaiRe o oiife fRufa ot
g ot vaa o e, SiufaRanT SR Sifier o1 ol wmrT ATl

39 I TS & WY-T1y § Igf oiae B0 F 28 ¥8d A1 R B IR IUS Jo-UgHR o I A H ot g0 o i g3 1 yRa &1 foum vefa & R
I8l YT| 98 T 3R Sia SnfeaiRial & St & T9H Tl

Q.No: 46 ITda THIY & YR HRA B fpa TT=Iq SHeeA Tiar & & sl 82

A 3 gl
B BRG]
C GIER GG
D g ufo=ra

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

= R feu U e S ugeR I U URA & T IRd SaR ard fawed o1 a9 Sifon-

URA & Tid URA I U 92741 AR IXpid & Ufad g1 Tiig YRaay 3T 1l § AR Jyul 4R 39T IR | IRR BT I e ot W Ryl W R o=ar g1 sren
P WR TF W g WYYl IRR F a1 SR TR BT GaR Bl ¢ S o YR B W18 TiA=Id SFEe gl 7 g1 St ¢ | el $g1 ded 3 "R &I g&d idl 8
AT 2, Al Bt I A & URA BT I B Gl g1 Al B € ar ofR g & FaR 5 aud T 1S YRa @ It it Sae 8l df el § 99 18l YRd Bt
IR TR @t Ifa R TR Sifig el &1 IAfa W U el T 3 AL BT BRI SR BT DR ¢ | AGIhId GREAFG Ud  “HRd HIdl TTHaTR 1w Higar #
3w § T81 § 16 URdad & arafde ey Tidl § §1 Xacar & gd A ofR AN ot g3 9t g B A, SR ok YEEdt &1 - e g ol
3{e SR ST Bt Y fe -1 yeyaal g | fa<a & 5w S 1 |1 ShTSTS &, ST 9T YU SR gWIRUMA U, S 1al ¥ S&T By e Tg1 Tl
SiaTaTg $1 W Yol I 19 arat AR 31 IF siiad & duy H3 & fu aRed, sraRid, SR € dgd U1 SHiRia F -y garydl ot onfde fufa @
gre o vae 1 s, siufaRary oiR sifiem w1 guf wmreT Al

31 99 RIS & Wr-ar 3 Wyul ofiee 07 ¥ <9 X8 31 HiY 9 R 3us Jo-UigeR d 91d A1 S 3F g3 of A g8 O uRa &1 feu uefd R W
5T UT| 98 T SR SiiaH SMfeayd! & Siiad & 90 ATl

Q.No: 47 Iwfad Tl & HeTwfd GREred Ud 1 b Sfaar 1 Sameew faan 32

A YRS T I aRe

B P & G

C R AR A 7T
B T

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:
= R 3T MU RN B ugaR 0 MY URAl & 9ad IR IaR 91 f[aded ST 99 Sifere-

UYRA & 7Tq URA &I YR a1 3R Wpla F Ul §1 7 YRaay &1 el 3 IR Yol URA 37T IRR | IRR St I ol ot e fRufa R FR ot g1 sme
F WR EH W g Hyul IRR H A oiR Tafad 1 SaR Sial 51 ot o YR 3 W16 ufara seRe TGl # € g9t g1 el 71 evd 3 WRd &7 g&d Tial
TIAT 8, TG Bt 3= T URA B I & Gt g1 Tiidl H € Far 3R ufem F 3@dR fhuH S99 819 URA @ =it et S € o Tifdl F 99 SIsu) YRd @t
FAl TR @t Sfa R TR Siftrg el #1 I R AU TRet T S T BT FR SRITG BT R §1 TEThid GRAFGA U 7 YR TTdl TTHaTR =S Figar #
3l & e § 5 YRdad @1 IRafd® Wy Tiidl 7 81 wdsar & g i ok amfion o5t g2 wt garia ot fdar, R ek y@ast o1 - g g ol
&M R R B S feT-1a et Tgdt < favg & fowr ot = o SIS oft, ST AT YURUI SiR goIRuId gU, 3 a1l 9 ST Bis ey =gt Tl
SGTATg &1 GRS YOIl ¥ T1id ard SR 31 3d siad § T9Y o & It SR, SRawidT, 3R] of dgd J1 SR & Ard-wury aaie o onffe fRufa ot
T ot vaa At e, SiufaRary SR Sifen o1 ot amrsy Tl

3 99 TURISH & WY-T1 I WYl ofiad 60T 9 &9 38d 31 PN B IR 309 J6-UgER d 9d A1 H 3t a3 off A g8 O URa &1 fhuE Ul F R R
g1 ATl 9 g iR Siiae snfaiyl & Sfias % Tme il

Q.No: 48 ITYF T F SIUR ¥ HU BT 9 Hifor-
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31 ot YR F Flo wiRi S el # € s}

YR 16U Ul F 1R W 6T U1l SYHT Siig 9gd & YEEr o1l
TMidt Bt ST § g R P SH 81 Gobal 3

URA & 7Ta YRT B WM Gl R G&pia & ufaw

Correct Ans : B

o 0O w »r

Subject : Hindi Bhasha 01

Passage:

= A 13T U RN B ugaR g T URAl & e IR SR a1 faded S 99 Hifere-

URT & TNid YR D U TR SIR hfa & Ui §| Tiid URAdy &1 31 & IR Il YRA 8T IRR| IRR BT I SATH St W RUfd R 1R Hwar g1 s
F W g W g Igul IRR B T SR IR B WAR BI1 &1 St off URA 3T W16 WRRTd SreeiReA Tiiar B € awit 81 et $51 dRa & YR 31 g5d Tial §
T B, TGl Bt S ¥ g URd Bt S+ 81 gabdl 5| Tiial H § VT 3R uRem F SEdR UM S9d T 1°erd: YR Bt e Sie! @l gt df Tidl # 99 S8l YRd 3
Ifa TR @t Ifva R AR sifirg Tiie @t IAfa W AU SRt §1 S T BT B SR BT B B HeThia GREFEA Ud T R HTdl YTHaTR S Sigar #
3® @ Tl ¢ T URdad &1 arafds W@y Tidl H g1 Gaddr & gd A ofR Jrdion &t g0 98t g R frdan, S ok yem #1 -3 e g ol
Sifre SR oA Bt if feT-T1a et xgh Y fava & for of A shreTs off, ST guikumy SiR giud U, 39 916l 9 SHET B 9y e Al
SaTaTe 1 W YUl I g arel AR 31 I Siiad H Guy e & 0T SRedl, SRaRd], SR g 9gd U1 SARIe S WY-H1 THandi B i fufd &
g f gae off1 s, siufaRar SR sifRien 1 guf amrey Al

T 9e guiell & -9 3 Syuf Sfiad B0 9 &9 6 91 HY 3 IR SUS Yo-AgeR d oid A1 B 3 g3 off A g8 o uRa &1 feuE uefd & R W
Tl U1l 9 51 AR Siia Mfaryal & Siid & oM ol

Q.No: 49 FHfREa & ¥ 59 weg &1 vawT Swiad i & =& fpar mar 82

A ST
B EIESIGEY
c RUE

D oIt

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

= i T U RN $ ugaR 0 U URAl & 9ad 3 SaR a1 [Adbed ST 99 Sifore-

UYRA & 7Ifq URA &1 YR a1 3R Wpla & Ul g1 7l YRaay @b 31el § 3R ol URd 3791 IRRI IRR 31 IART offan ot o Rufy R Felk oar g1 sme
F W EH W g uyul IRR H TFaden oIk A9fad 1 TaR gial 51 ot off YR 3 W1e ufara seiRe TGt § € Sudt 31 el g1 Svd & WRd &1 ged wial
TIAT 8, A Bt 3= T ) URA B I & G g1 TiTdl B € Far ofR ufiem F @aR fhuH S99 819 URA @ It it i € il F 99 SIsu) YRd @t
IR TR B 3T R A SifAig Tiat B IR W FUL A 1 3T TR BT B SR BT P 3| AETHIT GRAFGA U 7 UIRA AT THIT S Hiaar o
3l & el 3 [ URdayd @f JRafds ey Tiidl & 81 wd=ar & g il ok arefion o5t g2 vt garig A fdar, R R y@ad o1 - g g ol
e SR SR B Siffl faT-31a yemdt Yot I fava & fosa of 3 shiers oft, ST Fa guRumy Sik gwRumm gu, 39 a1dl I 36T IS ey 81 ATl
SaTg F1 @RI YRl 9 19 aTel SURfd 31 3% Siiad H 99y $x F fu SRed, srawid, S 8 dgd A1 Sf¥ien & ry-ury arariiEi ot onfie fufa 31
T ot vEa At S, SiufaRar SR SHfRien o1 ol ameT ofl

3 99 GURISH & WY-T1 I WYl Sfiad 07 ¥ &9 X8d 31 FiY B 9RT 30 J5-UgER o o A1 H 3t gz off A g8 O uRa &1 feuE ueld % R W
T§aT YTl 98 T SR Sfia feaRedl & Sias & waM

Q.No: 50 F=fifEd & & ‘gda’ &1 oy wes 71§72

A g
B RCES)
c T
D e

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

w3 U RN $) ugeR U U URAl & 9Ed 3 IR a1 fawed &1 9 Bifore-
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UYRA F Tiid URA P TR T $iR Tpha F vl &1 i URday ot ofel § oiR Tyuf URd ITHT IRR | IRR B I M1 F @ R R 1R Far 21 sra
F @R B R & Tyl <RR # TR iR o= o1 TER ST g1 31 o YR B 916 ufiwrd serae Tiidr & g st 31 il et vy & URd 31 ged il
AT &, Tiidl Bt I-Ta T € HRA BT I~d &1 Toball 71 7ial H g a1 IR uRYH & SadR fbam a9 §1°31d: HRd @ Tl Sifp! 3T 81 ot 7idl & =d o138l YRd &t
It TR @t I R AR eifig Tilal @ Il W R Sl B1 o IR &1 R RGBT S B TRield giEred Ud A R AT WA TS Sidar §
3P & F81 § 76 URaad &1 aRafas ey Tidl § §1 oAl & gd wrE $fR Jrion &) gxn 9t g i fdar, S ok yemt &1 H-T e g Al
SR R ST Bt S fe-v1a wererdht Tgdht < fava & fora ot = F SIS oft, SuwT AT YURUIA SR goIRuH gU, 3 a6l ¥ ST B gey =g |
ST &1 WG YOIl & TMid ard SR 41 9@ siad # Jay o & fu gRedT, SRawidr, SRl o agd 1 SR & r-ury aHaiRe o oiife fRufa ot
g ot vaa o e, SiufaRanT SR Sifier o1 ol wmrT ATl

31 99 qurell & TIY-91 3§ 9Uf Sitad 607 9 &9 %6 31 SN BT IR SUS Yo-TgER o o A1 HY 3T 3 +ff i g3 A URa &7 f5uE Ui F R R
5T UT| 98 B SR Sita SMfeariEl & Siad & g0 oMl

Q.No: 51 y=fRad # ¥ Ryraras ag 1 997 Difoe-
A e 3 T TE) @R

B Y e Tt S T
c AV ToT BT Jeret AT 3
D FUTY FEI o 36T 32

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

= R feu U e S ugeR I U URA & T IRd SaR ard fawed o1 a9 Sifon-

URA & Tid URA I U 92741 AR IXpid & Ufad g1 Tiig YRaay 3T 1l § AR Jyul 4R 39T IR | IRR BT I e ot W Ryl W R o=ar g1 sren
P WR TF W g WYYl IRR F a1 SR TR BT GaR Bl ¢ S o YR B W18 TiA=Id SFEe gl 7 g1 St ¢ | el $g1 ded 3 "R &I g&d idl 8
AT 2, Al Bt I A & URA BT I B Gl g1 Al B € ar ofR g & FaR 5 aud T 1S YRa @ It it Sae 8l df el § 99 18l YRd Bt
IR TR @t Ifa R TR Sifig el &1 IAfa W U el T 3 AL BT BRI SR BT DR ¢ | AGIhId GREAFG Ud  “HRd HIdl TTHaTR 1w Higar #
3w § T81 § 16 URdad & arafde ey Tidl § §1 Xacar & gd A ofR AN ot g3 9t g B A, SR ok YEEdt &1 - e g ol
3{e SR ST Bt Y fe -1 yeyaal g | fa<a & 5w S 1 |1 ShTSTS &, ST 9T YU SR gWIRUMA U, S 1al ¥ S&T By e Tg1 Tl
SiaTaTg $1 W Yol I 19 arat AR 31 IF siiad & duy H3 & fu aRed, sraRid, SR € dgd U1 SHiRia F -y garydl ot onfde fufa @
gre o vae 1 s, siufaRary oiR sifiem w1 guf wmreT Al

31 99 RIS & Wr-ar 3 Wyul ofiee 07 ¥ <9 X8 31 HiY 9 R 3us Jo-UigeR d 91d A1 S 3F g3 of A g8 O uRa &1 feu uefd R W
5T UT| 98 T SR SiiaH SMfeayd! & Siiad & 90 ATl

Q.No: 52 TgTaRT “aiie ieh-uielt S &1 et & & am orf g2

A g4 @RI g1
B UfRT BT
c AR BT
D B fegl

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:
= FTIi B UedR U T TR F I IR SR I ey o1 99 Fifvwm-
q-Y, d-T7d §R Jomd
-1 &1 39 fom g,
Tt =, T wHii-ga
T R faerg &1 8 BH|
R 7dH q, 9-1R07 9 -
o, el JEM, HIG-* Ud-d IR U]
T 1Y ¥ Y-,
-G G T H,
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 14/53
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S &1 ¥9 §5d ¢ § |,
Hife-PIfC §H S A Hi
19 38 99-fgg TE 9 -

Fhel TR 3 A, HIG-3 -2 SR Y|

Q.No: 53 = & & Iude dfsadl & waRdr 1 911 Farsu-

A YA TeRo gt
B e @At
C ST

D FUST HARY AEH

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

P& FTIIY $T UeH Y T URAT & I IFId IR I [daed o1 9 Sifo-
TIG-*, d-TId TR JOIH
T2 31 38 4 g,

Tt A, Tt wpfd-ga

T R fawra &1 § %1

RR 7dH q, ¥-mR0 9 -

o, TEd S, WIG-Y, Id-Xd IR YOI |
T 1Y H UG-,
TH-E1 gaR B #,

7 &1 ¥ §ed § § |,
Fife-Dife 5 S WY H|

6 36 Ta-fea e q -

THA TR ' T, G-+, Ad-21d IR YOIH |

Q.No: 54 4= § § =g &1 orf Fr §2

A STe
B Y
C SISt
D TR

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:
P SIS & UgaR U T WA & IS4 ST IR a1 et HT 99 PIe-
-, XIA-Id IR T
UH-gaT H1 38 RU T,
Tt =, T wpii-ga
T 7R foa™ &1 § w1
R T q, ¥-TR07 9 -
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 15/53
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T, I8 Je¥, Tg-3, I9-3d IR Yo |
T g | AG-UdIal,
-9 R B F,

ST T Y 949 & ¢ H,
Dife-ife g4 o1l A1y H|

9 3% T-fg T 9 -

Fhe TR 3N U1, AIG-3Y - IR Y|

Q.No: 55 f=fifaa & ¥ 59 ug &1 waw Swiad ufsaar & =1 v man 82

A wa-féq

B A-UdleT
C IR-TRaH
D wEi-gd

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

= T B UgHR UP T Al & Fod Sfd IR A fiFed 1 997 Fifve-
AIG-Y, G- §R YUITH
-2 1 38 7 g,

- AT ORI T,

Tt I, T wBid-ga

T R fawr &1 8 ®UI

R 7 q, S-AR0T 9 -

o, e e, Hig-3, Iel-Ted IR YOI |
T 1Y H UG-dre,
-0 R Y H,

ST P U 954 & § i,
Plic-pilc gH 3 1Y H|

9 3% -ffg T2 9 -

Td TR 3N U, AG-3, - IR JOH|

Q.No: 56 Iuged TN & STIR Rekd RIF BT i BIforg-
U 1Y H =-Udrebl, guR g o ,

A wa-fég
B IE-g
& -
D g-gar

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
FE: B BT TgaR Y T YAl & 99 3d IR I faded o1 9 Fife-
HJ-Y, Wd-d §R Jomg
-1 &1 3% fom g,
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 16/53
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Tt A, Tt wpfd-ga

T R faarg &1 8 FH1

R 7dH q, 9-AR07 9 -
Yo, W SEMH, HIG-3 Wd-d IR YUITH|
T g1 | Y-Udel,
H-El0 g g #,

7 $1 ¥ §6d ¢ § i,
Fife-ife 5 S WY H|

Tl 3¢ 9-fgg 18 9 -

FHd TR A U, T-2, Id-2d IR JUH|

Q.No: 57 'Sl 9gd GHY TP GR U&’ F Y U Weg BT 94 BIforL-
A farad

B Rt
C B
D geaTe

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

P ST Y UgHR U T U F I3 Ifed SR I ey o1 99 Sifo-
AIG-Y, d-RId §R YO
-7 &1 39 fow g,

Tt A, Tt T fi-ga

T R fow™ &1 § w1

R 749 q, 9RI-R01 F -
o, Tad S, HIG-Y, Id-Xd IR YOI
TP g1y H G-TTepl,
IA-E9 TR Y H,

SR 1 ¥ 96d & § I,
pife-ife gH 1S WY |

151 3 sa-fe e F -

THA TR 3" U, G-, Ud-21d IR YOH |

Q.No: 58 fHfid & ¥ TgarE® Il s BT T4 HifoTE-

A [l
B Gl
C piEGl
D T

Correct Ans : D

Subject : Hindi Bhasha 01

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Passage:

=T STy 3 g I T URAl & Fad 3fUd Iar a1 fadwed & 999 Sifo-

AIG-Y, UG- SR T

T2 1 38 o
- AT ORI 5T,
T4t A, T Wpid-ga
I3 R fdem &1 8 B

R A9 q,

SRI-TRUT ¥ -

Yo, | IETH, HIG-3 - IR JOH|

T g1 | UG-Udlhl,
IH-EU R,

ST T ¥ §aa & g i,
PifC-PIC GH AT Ay H|

ot 33 -

&g g 9 -

THa TR S U, G- -2 IR Yo |

Q.No: 59
A
B
c
D

ST TR & IR Tt A1, T WBid-ga HAl
TR PR-BR w7

T R R a18

TIH & R-TROT BT

T © aifgar &1

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 60
A
B
C
D

77 B F P91 S F gemE $T1 RO ST 82

a5 it Teprd

IR e sries

AT BT U4 HTER

S5 3D R , SRR e HRIHH Td U ST UEdY IR

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 61
2461620

A

C

D

If 1 pencil is 4 cm long. What would be the length of 14 such pencils? Express the answer in millimeter.

gfe 1 tfe 4 It ol §1 R 14 TR B G971 gl IR P e § orad w¥

0.56 mm
0.56 mm

5600 mm
5600 mm

560 mm
560 mm

5.6 mm
5.6 mm

Correct Ans : C

Subject : Mathematics

Q.No: 62
2466976

What should come in place of the question mark (?) in the following question?

0.78 x 400 + 0.6 x 250 = ?

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Fofafad uy ¥ maes g (?) $ RIF R 31 Ml aied?

0.78 x 400 + 0.6 x 250 = ?

424
A

424

462
B

462

412
C

412

496
D

496

Correct Ans : B

Subject : Mathematics

Q.No: 63  What should come in place of the question mark (?) in the following question?

2467004
45% of 220 + 65% of 520 - 15% of 920 =7
FoffEa uy & uyers [ (7) & RIF W 31 S ew?
2207 45% + 520 FT1 65% — 920w 15% =7
261
A
261
278
B
278
223
C
223
299
D
299

Correct Ans : D

Subject : Mathematics

Q.No: 64 QOne-fifth of a number is 62_ What will 73% of that number be?

2467106
TRt T o1 Uigar $T19T 62 B | 337 T&AT T 73% ST g2
198.7

A
198.7
226.8

B
226.8

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 19/53
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Cc 226.3

226.3
234.8

234.8
Correct Ans : C

Subject : Mathematics

Q.No: 65 A number is as much greater than 17 as it is less than 57. Find the number.

2467161

T T 17 9 I+ & 981 § Ria 98 57 § 7 71 98 T= I Pl

36
A

36

37
B

37

a0
C

a0

a4
D

a4

Correct Ans : B

Subject : Mathematics

Q.No: 66 The cost of ten mangoes and nine apples is Rs.104. The cost of twenty-seven mangoes and twenty-five apples is Rs.285. What is the
2467725 total cost of three mangoes and two apples (in Rs.)?

T AT 3R A s 3T PIHT 104 ITA 7| TAEY MW R T= ¥9 P $iFd 285 30 1 A 3} &R 5 A I o P (3. ) b 22

24
A

24

30
B

30

27
C

27

32
D

32

Correct Ans : C

Subject : Mathematics

Q.No: 67 Which of the following is a perfect square?
2468022
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Frofafed ¥ 3 oF e Qf & 87

442
A

442

547
B

547

222
C

222

361
D

361

Correct Ans : D

Subject : Mathematics

Q.No: 68 A man goes 10 m due east and then 24 m due north. Find the distance from the starting point.

2468053

T e g B 3R 10 H @ik R IR B 3R 24 W €1 R g A & 9 Sl

26 m
A

26

24 m
B

24 10

28 m
C

28 Tt

30m
D

304

Correct Ans : A

Subject : Mathematics

Q.No: 69 The complementary angles are in the ratio 5 : 13. The angles are:

2468172
e 101 5:13 & G § S BT §:
50e, 1302
A
50°, 130°
90°, 180°
B
90¢, 180°
c 60°, 120°
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60°, 120°
250 63°

250, 65°

Correct Ans : D

Subject : Mathematics

Q.No: 70 .‘E+5+x—5 _ 2 )
2468312 1 3 3 o then, findx.

-qﬁ,-(-s x—5 25
YT"'\T g ?, ,x?lla @ﬁfﬁ’l

3
A

3

2
B

2

a4
C

4

-4
D

-4

Correct Ans : C

Subject : Mathematics

Q.No: 71 A number increased by 9 then multiply by 2 gives 36. Find the number.

2468322
TP GO FT 9 q TGThx 2 A 07 X W 36 UK Siel &1 G Tl Piorg?
13
A
13
18
B
18
9
c
9
6
D
6

Correct Ans : C

Subject : Mathematics

Q.No: 72 A train left Hyderabad at 13:15 on Friday and reached Bengaluru at 07:30 on Saturday. The duration of the journey was:
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2468583

TH YATS! FeR1aTE YR $I GHT 13:15 R Fait 3R IMAR S SIGE 994 07:30 TR Ygdi | IET & @ 969 oT:

19 hours 45 minutes

A

19 He 45 fiFe

5 hours 35 minutes
B

5 H¢ 35 fiFe

12 hours 45 minutes
C

12 W2 45 fiFe

18 hours 15 minutes
D

18 ©e 15 fiFe

Correct Ans : D

Subject : Mathematics

Q.No: 73 The ratio of 15 m 50 cm to 155 cm is:

2469652

15 #ex 50 It F 155 I 7 SgUE 2

3:10
A

3:10

13:2
B

13:2

10:1
C

10:1

5:2
D

5:2

Correct Ans : C

Subject : Mathematics

Q.No: 74 The ratio of 1.5 paise to 4.5 rupees is:

2469684

1.5 3¥ ¥ 4.5 IUY T U §:

3:75
A

3:75

1:300
B

1:300

1:150
C

1:150
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Correct Ans : B

Subject : Mathematics

Q.No: 75 The degree of thepolynomial 2a% + 7b*— 527 b*— 3abt is:
2469827

TgUG 2a° + 7b*— 5a7 b® — 5ab* HI U 5-

4
A

4

3
B

3

10
C

10

7
D

7

Correct Ans : C

Subject : Mathematics

Q.No: 76  Find the value of the following:
2469993 (3 _ 37)2(s + 41) + (s + rs — 1212)

i@ &1 9F 719 Big-

(5 =30 (s +4r)+ (s +1s—12r2)

s + 3r

s + 3r

3r-s

3s-r
Correct Ans : C

Subject : Mathematics

Q.No: 77 Find the Ratio of the smallest prime number to smallest composite number.
2473320
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T BICT U T FT T Bict U T&T I 3T J1d DI

2:3
A

2:3

1:2
B

1:2

2:1
C

2:1

1:1
D

1:1

Correct Ans : B

Subject : Mathematics

Q.No: 78 If ‘+’ stands for Multiplication, *x’ stands for Division, ‘-’ stands for Addition and '+’ stands for Subtraction, what would be the value of
2480965 the given equation:

20-8x4+3+2=7

e '+ BT 3F O B, 'x' BT 3 UNT |, - T oif § Siig ok '+ &7 orf wer 7, o fau g wfieror &1 0 @ g

20-8x4+3+2=7?

41
A

41

19
B

19

16
C

16

18
D

18

Correct Ans : C

Subject : Mathematics

Q.No: 79 Given interchanges: signs + and +, and numbers 6 and 4; then the value of 8 + 2 x 6 + 4 - 19is

2481066
fau U e (3o H sgan): fg + iR +, SR W6 iR 4; A8 +2x 6 +4-19BTAA T
10
A
10
3
B
3
Cc 8
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7

Correct Ans : B

Subject : Mathematics

Q.No: 80
2481371

D

Girls surpass boys physically in
............. T Teial INIRS U I dss I S e ol §

infancy

later childhood
ggTaadl sEu

early childhood
CELE

adolescence

Correct Ans : B

Subject : Mathematics

Q.No: 81
2481422

D

Which of the following is decisive for teaching work?
Frafufed & & o9 Rew o1f & o fFofas 32

To make effective the excellence
IHTAT B THIG ST

To educate

fRiem &

True management of classes

DA 1 I8l Ty

Communication with students
BE & WY GAR

Correct Ans : A

Subject : Mathematics

Q.No: 82 The nature and social adjustment of Meera is the best amongst her friends. According to you what is the reason for this?

2481693

D

TRT T TWHE TR TS TR 396 SRl # Ta 35T 81 3% IR SUH! SR T 22
Meera belongs to a rich family

HR1 7 3R TRaR X g vt ¥

Meera’s mother is the Principal of the school

HR1 3t A e @ w8

Meera is very intellectual

RIS THHER §

Meera’s language is very attractive

HRT B 4T §gd

Correct Ans : D

Subject : Mathematics

Q.No: 83
2481773

A

Which sub- group of affective domain focuses on active participation in

IETHAS S BT B 91 IU-THE Wipd Yrfierl R Fia §2
Attending/ Receiving
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YRT ST / U BT

B Responding
Valuing

C
Ed &

D Organization
RUCE)

Correct Ans : B

Subject : Mathematics

Q.No: 84 How much knowledge is gained through the sense of touch?

2481807
el B |G | e 9 I B 22
A 75%
75%
5 13%
13%
6%
c
6%
3%
b 3%

Correct Ans : C

Subject : Mathematics

Q.No: 85 students. who bring out alternative solutions and cite the books not prescribed by the teacher should be -

2as1ee0 depfeties FHTUT FebTer arer SR fRrerp gRT FMufRa TET #1718 il &1 garen 7 e BEl 1 g ey -
discouraged

§ w
encouraged

° st
advised to talk to the teacher outside the class

C BT P TeR RIEE J I B B Hell6 &

advised to follow the class notes to score better in the examinations

D iemail # IR TR B P RN AN iy PT Ul A3 31 9al6 &
Correct Ans : B

Subject : Mathematics

Q.No: 86 The ratio of cost price and selling price of an article is 2: 3. The profit percent is:

2481891
TH a5 &1 54 Ged a1 [9hT 0w 2 : 3 & orud § g1 Oy Ufa=d gnm:
30
A
30
25
B
25
50
C
50
60
B 60

Correct Ans : C

Subject : Mathematics
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Q.No: 87 In multiple choice items the stem of the items should be -

2482536 .
glddhedid Hal | |l BT o1 AT 15T -
A Large
Small
B
g
c Meaningful

None of the given options

b R Te Riwed & § Y 78
Correct Ans : C

Subject : Mathematics

Q.No: 88 According to Edgar Dale ,maximum and real knowledge can be gained by

2482778
TSR 30 & 3ER, Mf¥Han R arafds I T a1 o1 IHdr §

Listening the teacher
e @1 FIAR

Reading the books
ggihr

Seeing the objects in real

G TG P IRAIP T T STHY

D _fﬁgﬁeing the T.V.

Correct Ans : C

Subject : Mathematics

Q.No: 89  valuation and examination are the same. Do you agree?

2482779
i 3R Tel THH §1 T 319 Tgd 82
Perhaps
A
Bupres
Yes
B o
=l
To some extent
C
$O 84 dD
D Not at all
foepa T

Correct Ans : B

Subject : Mathematics

Q.No: 90 Total cost of 3 tables and 2 chairs is Rs. 1300 and that of 2 tables and 3 chairs is Rs. 1200. Find the cost of one chair.
2483842 3 75 SiR 2 HRIG BT $d Ted $.1300 ¢ 3R 2 Teif 3fR 3 FRIAT &7 Fo g7 $.1200 Bl T Ff &1 59 T4 Sargdl|

A Rs 100
100 ~.
B Rs 150
150 %.
c RS 200
200 %.
b Rs 250
250 7.

Correct Ans : C

Subject : Mathematics

Q.No: 91 The food source of three quarters of the world, people is-
2469818

foza ¥ <t <hurg il @1 @R -
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wnear-xice

A
Ng-drad
Mize-Barley
B
HPT-Sit
Oats-millet
c
-
Rice-maize
D

Ad-HhT
Correct Ans : A

Subject : Environmental Study

Q.No: 92 Not a local bird is-

2470108
i velt e ®-
Pigeon
A
PR
Crow
B
Fral
Sparrow
Cc
e
Penguin
D
RREE]

Correct Ans : D

Subject : Environmental Study

Q.No: 93 Which of the following bird builds its nest in or nearby human living areas?

2470601
Frufifed & 3 S w1 el AMa & 6 AT &F § 91 SUP S9-UIN (0T "ieal Sl 82
Pigeon
A
PIR
koel
B
PR
Copper smith
C
PIR &1y
D Weaver bird
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I ueh
Correct Ans : A

Subject : Environmental Study

Q.No: 94 How much percentage of nitrogen is their in air?

2472070

9 § Ao ST Hfawd fa &2

21 %
A

21 %

78%
B

78%

80%
C

80%

95%
D

95%

Correct Ans : B

Subject : Environmental Study

Q.No: 95 An area surrounding a body of water in which that body of water is subject to

2472303
U P TRR & SH-U $T U@ &7 FraH g &1 98 WM F 3¢ 8l §
Rainwater harvesting
A
auf & gaad
Watershed
B
RS
ecological balance
C
IR dgerT
hydrological cycle
D

HESGIECCEY
Correct Ans : B

Subject : Environmental Study

Q.No: 96 Which Reserve in Kerala is the tiger reserves preserving biotypes of sizeable magnitude?
2472419

F H FH 1 Rod eTR o § S 98 IRE0 F IRiersy o TR BT 87

ranthambore tiger reserve
IR TR ol
B Periyar Tiger Reserve
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URER 2R R

panna tiger reserve

ol TR o

sunder ban tiger reserve

YR ey 2R Rerd
Correct Ans : B

Subject : Environmental Study

Q.No: 97 In which year, Hevea brasiliensis, is introduced in India and planted in Kerala?

2472475

o af &, faan sriifereim, wRa & O fosar o ofk e B @

1965
A

1965

1957
B

1957

1902
(o

1902

1891
D

1891

Correct Ans : C

Subject : Environmental Study

Q.No: 98 According to Aristotal, different type of friendship are:

2472573
SRTY F IIUR i P IPR §:
2
A
2
3
B
3
C
4
5
D
5

Correct Ans : B

Subject : Environmental Study
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Q.No: 99 Which one of the following item is not source of vitamin C?

2472745
e 7 QB W enged et ¢ @1 9 76 82
Potato
A
I,
Tomato
B
THICR
Guava
C
ST
Egg
D
e

Correct Ans : D

Subject : Environmental Study

Q.No: 100 Which of the following is NASA's “Experimental Mars helicopter” ?

2474014
Frafifed § 3§ B NASA &1 Trifiie Brd gelieiR” 82
Ingenuity
A
EEx S
Integrity
B
FEEC
Intercom
C
oo
Interpret
D
e

Correct Ans : A

Subject : Environmental Study

Q.No: 101 LEO stands for:

2474034
g3, &1 gof ¥u 8
Large Earth Orbit
A
i of siffefe
Low earth orbit
B
4 anf aiffde
C Latitude earth orbit
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dfegs onf aiffde

Longitude earth orbit

aifores srf siffefe
Correct Ans : B

Subject : Environmental Study

Q.No: 102 Where is the National Physical Laboratory located?

2474140
I il DRI el (RUd 82
Mumbai
A
g
Kolkata
B
EaRGaC|
Chennai
c
EES
New Delhi
D
74 el

Correct Ans : D

Subject : Environmental Study

Q.No: 103 Which of the following is/are advantages of manures?
2475974 1 it enhances the water holding capacity of the soil.
2. it makes the soil porous.
Choose the correct code -

Refafad § ola-ar/d @ &1 o §/67
1. I TEET & STof &RoT &THTT &7 JerdT a1l
2. G THET &l R Sl &1

Only 1
A

Fad 1

Only 2
B

Fad 2

Only 1 and 2
(o

Faa 1 ek 2

Neither 1 nor 2
D

TJAr 1R 2
Correct Ans : C
Subject : Environmental Study
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Q.No: 104 Against which team did Sachin Tendulkar score 200 in an ODI match?
2476471

i dgaex A fog & & f@ars siaxigha wefiawda 9 7 200 ¥ s 47

South Africa

A
Sf&for SfpieBT
West Indies
B
CREEIE]
Sri Lanka
C
it
Pakistan
D
UifepE

Correct Ans : A

Subject : Environmental Study

Q.No: 105 When did the Indian Super League begin?

2476550
3T g M BT H31d FHd 532
October 2013
A
3ITER 2013
August 2014
B
SRd 2014
October 2014
C
AT 2014
November 2014
D

Ads} 2014
Correct Ans : C

Subject : Environmental Study

Q.No: 106 Which of the following football clubs of India is also known as ‘The Mariners?
2476576

HRA ¥ Fofeifed § A 5 Geaia wae ®1 ' AR F 91 F off S o 82
SC East Bengal

T $% S

Goa Salgaocar

T IESR
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C Mohammedan FC

HigrHs THH

ATK Mohun Bagan

TWids AigH ST

Correct Ans : D

Subject : Environmental Study

Q.No: 107 The power of observation, reasoning and thought can be developed by which of the following methods?
2477165

e & 3 f5u (Y gR1 eadeq, ahaa SR AR @t e &1 e fear st 9% 82

Demonstration

A

TeRH

Development
B

[EEa|

Divisional
C

R

Directional
D

e

Correct Ans : A

Subject : Environmental Study

Q.No: 108 Anshul does not submit the work given by the teacher on time. What should the teacher do in this situation?
2477396

IS Rierew & gRT ST T H1 &) T9 U IR 718t Hval © | 39 awi # R o 9a1 H1 fge?

Anshul complaint should be done with his parents

A
SIS F AT e Bl TR I8 Rieprad HAT Ty
Anshul should be thrown out of class
B
S B B B TER A 1 =Y
Knowing the reason for the delay, he should be given the right direction.
(o
T &1 PR TR I & A = 31 =Ry
he should not be allowed to sit in the exam
D

I T § 957 et & AR

Correct Ans : C

Subject : Environmental Study

Q.No: 109 is increased in children through discussion teaching method.
2477401

1. Expression
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2. Self-confidence

=t o7 fafY & gRT Ira) § IR AT B |
1. ifiafd
2. TAfayr™

only 1

Pad 1

only 2

Fad 2
both 1 and 2

1 3R 2 g

neither 1 nor 2

JaA192

Correct Ans : C

Subject : Environmental Study

Q.No: 110 Where was the World Conservation Congress held in September 2021?

2477808
e 2021 ¥ fay e SIUF Hel Ao S T8 A
Marseilles
A
g
London
B
e
Manchester
C
BEReR
Columbia
D
it

Correct Ans : A

Subject : Environmental Study

Q.No: 111 Which of the following states has the largest forest cover area in India as per India State of Forest Report 2021?
2477811

& Ve oifs wikee RUIE 2021 (YR o fufa RAIE 2021) & SAUR FoffEd § 3 5 woa & YR &1 999 9971 39 87 32

Uttar Pradesh

A
IR U
B Rajasthan
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RERIE]

Arunachal Pradesh

SBUITES WS=T

Madhya Pradesh

TR

Correct Ans : D

Subject : Environmental Study

Q.No: 112 The phenomenon that maintains the temperature and makes the earth perfect for life by trapping the sun’s heat near the earth’s
2477886 g rface and keeping it warm is called what?

95 AT S ATIHH S §A1T Gt § SR Jedt 31 WA & U g B T Bl e ofR I8 T T@aR gt B sited & g uRgef g9 §, @ weend 82

Global Warming

A
yHedassHieRu (7 i)
Natural Greenhouse Effect
B
Uipfas MHeeH UHIE
Global Cooling
Cc
sl e (eea gfeim)
Green Effect
D

T UHE (I gihae)
Correct Ans : B

Subject : Environmental Study

Q.No: 113 1In which year was Fort William established?
2477954

B¢ faferad ot RIoAT fod 99 g% oft?
1660

1660

1673

1673
1686

1686
1698

1698
Correct Ans : D

Subject : Environmental Study
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Q.No: 114 The credit for Green Revolution in India goes to -

2478040
YRA & R wifd 1 99 S g -
Dr. M. S. Swaminathan
A
ST U @ WA Bt
Dr. Verghese Kurien
B
of oife i &
Dr. P A Sanchez
c
S1 4 T e @
Dr. R S Paroda
D

BT 3R T Wil 7

Correct Ans : A

Subject : Environmental Study

Q.No: 115 On which of the following does Evaluation focus?

2478486

et Fafifed # 9 fow ® $isd g2

Observing the difficulties being faced by the students while being taught
A

UG Y B GRT AT B O a6 Hio-sd! & aaie S

Judging the learning progress of learners against established criteria, to benchmark
B

Famrd & forg wifda oSt & s Rigfidl @ e $t wfa S 3

Reviewing of the teaching-learning method as per the needs of the children
Cc

T $T HaGHAl & TR Rigvr-SRH gk o1 wfier s

Understanding the learning gaps of each child
D

TP o & SRR IR B HSAT

Correct Ans : B

Subject : Environmental Study

Q.No: 116 Which of the following is the full-form of UNCRPD?

2478558

frofifed & § oF- g,u. 9@ em. a8 & gof ®u 82

United Nations Convention on Rights of Persons with Disorders
A

United Nations Convention on Rights of Persons with Disabilities
B
C United Nations Convention on Rights of Persons with Defects
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United Nations Convention on Rights of Persons with Deformities

Correct Ans : B

Subject : Environmental Study

Q.No: 117 A teacher wants to teach his students the various parts of plants like leaves, stems etc. To make his teaching most effective, which of
2478610 the following processes must he resort to?

TE e o BE &1 el F R{ftm Yl S 1R, 99 3 T uer Ared §1 omm e F1 e vHidt s & fow S Rafutea ® @ 5wl @
TERT T TIigE?

He can draw on the blackboard the various parts and explain it to them.

A
T Spas R IE YFT 31 GT IFd1 ¢ AR I 9 9 ©
He can ask the students to read from the textbooks.
B
5 OHI DI TISITHD] | UG & T B8 IPhd §
He can bring a plant to the class and let the students touch and feel each part while he explains to them.
(o
T F4 A TF W1 1 9P § SR BHI B G0 U9 TAS HFT 1§ IR 7oy H ¢ 9o §
He can show them a documentary film about plants.
D

98 9 Ul & 9 7 U gui fhed fowr aod €

Correct Ans : C

Subject : Environmental Study

Q.No: 118 What is the full-form of EMPC?

2478698

£ A0 & guf-wu a8

Electronic Media Production Centre
A

AP Hifsdr MsawH Hex

Educational Management and Productivity Control
B

TSI Aerie TS MsfRfad suia

Educational Management Production Committee
c

TIHIAE Areie WSeRM el

Educational Media Production Centre
D

TYHIHT Hifedr MM Yex

Correct Ans : A

Subject : Environmental Study

Q.No: 119 The assessment wherein the purpose is cantered on definite pre-fixed outcomes is known as which of the following?
2478740

g e ford ffEa gd-fafiva ufomdl w 3w Rt o s g, Fofafea # 3 68 o1 s g2
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A Informal Assessment

SN SHaT
Objective Assessment
B
QYIRS SHa
Norm-referenced
Cc
st wehfa
Criterion-referenced
D

nHgs-geifa
Correct Ans : B

Subject : Environmental Study

Q.No: 120 Under the approaches of assessment for learning, if using a wide range of methods like written or verbal testing, interactions with
2478750 stydents, assignment, observation of student’s activities is known as which of the following?

e & g eeeH & =Deivr & agd, afe fifda o1 9ifde e, 36 & Ty dddld, 3RETHe, ©F B TafdfE % adie o oD qiie! o
IUENT BT Fufaied # & {59 ST o g2

Peer Assessment

A
HHPE SHTHTT
Learners self-assessment
B
Rrarff @-smea
Teacher-led assessment
(o
e & g # erdbad
Computer-based assessment
D

DR SR SATH
Correct Ans : C

Subject : Environmental Study

Q.No: 121 Development is that series of change in which a child goes from embryonic period to adult age. This statement is :-
2473602

fomr uftad™ gaen 3 a8 ST § R o= YOt ¥ TR MeTdwiT 0 ToRdl © - I8 $U B

Crow & Crow

A
%I T8 @l
Linton
B
e
Hurlock
C
AP
D Yung
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g
Correct Ans : C

Subject : Child Developement

Q.No: 122 The period of Embryo is ...........

2473615

O Y oafy ... B R

6 weeks
A

6 q«iie

8 weeks
B

8 Julle

12 weeks
Cc

12 q9g

16 weeks
D

16 9WE®

Correct Ans : A

Subject : Child Developement

Q.No: 123 Environment is any external force which influences us. This definition is given by-

2473669
AIdTERY Ueb aTel Wfad § St g WHIfad Bl 81 F8 URHI....... & gR1 4 720 B
John lock
A
BiEiicd
E.]). Ross
B
3.9
T.D. Elliot
C
&. 2. sfme
B Longfield
D
&t s

Correct Ans : B

Subject : Child Developement

Q.No: 124 What is the first and most important agent of socialization.
2473692

FHSIHRUT T YUH T T AgaQUl 9¢d gl
Family

TRaR
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B School

R

College
Cc

Heleeed

Cinema
D

R

Correct Ans : A

Subject : Child Developement

Q.No: 125 Which of the following statements is true?

2474324
frofafed # 9 SF-91 U 9 77
evaluation is a component of measurement
A
i AT (AoRA<) &1 TP 304 §
evaluation is an extension of measurement
B
i A1 (ASRAT) F1 0 R &
evaluation is a term used interchangeably with measurement
C
Yeie T Ysaraell & off A0 (ASRAT) F WY 30 HO daa gebdl §
evaluation is completely different from measurement
D

e Ot @E § A (AoRdc) ¥ A T s
Correct Ans : B

Subject : Child Developement

Q.No: 126 Gilford classified all intellectual abilities into a systematic framework called the “structure of intellect” in the year
2476280

frawis F fa af @b Sfge emarstt o1 "9 B W TS @ afud o | Fifed

1856
A

1856

1921
B

1921

1961
C

1961

1875
D

1875

Correct Ans : C

Subject : Child Developement
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Q.No: 127 Match and choose the 5 stages in thinking and what it is

2476722

Columu 1 Column 2

i. preparation a. selution may suddently dawn. Aha insight exparience

iL. iIncubaiion b. collecting necessary facts and matenials. concentrated efforts

fii. ilumination c. solution may need silght modification or require solution of other
relatively minor problem

iv. evaluation d. interfering ideas fade, unconscious process, wotk to find due to solution
in leamning and experiences of individual

v. revision 2. determine whether solution found is comrect or not. If wrong then goes
back (o stage one.

Tre & 5 TR BT TG HRP THAH $I 3R 98 991 ¢ U8 IS

FTAR 1

FIAA 2

AT (Rrayam)

2. HATTH 3OS e WRal §, 0§ Haiee Jgeg

il IR (F7gA)

b.mmaﬂ*sﬁ?a’mﬁﬁﬁmfm

it TS ()

o WA @ O WORT ST & ATETEAT @ Feeh & 4T
I YRS TIC Y W CAW &7 T ATeEEaT § wEdr
&

W.HATR (Fegquer)

d. 7eaaY e g Rant & qies, adas whisa, e
# wAnTE S & @ R iy s

vt (FEs=)

e @@ &t & T @y g weuer & gunr &% W £ aF
Ter &1 afg & wody & et & o7 2 gvw 9gd W #
Telt ot 2

i-a, ii-¢c, iii-d, iv-e, v-b

i-a, ii-c, iii-d, iv-e, v-b

i-b, ii-d, iii-a, iv-e, v-c

i-b, ii-d, iii-a, iv-e, v-c

i-c, ii-e, iii-b, iv-a, v-d

i-c, ii-e, iii-b, iv-a, v-d

i-e, ii-¢, iii-d, iv-b, v-a

i-e, ii-¢c, iii-d, iv-b, v-a
Correct Ans : B

Subject : Child Developement

Q.No: 128 If a student is being inattentive in your class, you should:

2476866
I IS B SHUD! Ha H &IH Tg1 § T §, A 3BT Ig ST AMfey:
Scold him harshly to follow discipline
A
SR BT U B &b Y FOR Sie T
Inquire and try to find out the reasons as to why the pupil is not prepared to learn.
B
SIS X 3R I RO BT I TN BT TR B & 301 B Wi & fore dar =1 71
C Get annoyed with him and complain to his parents.
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ITY AR B 914 3R I Aal-far ¥ Riemd B3

Ignore his emotional and intellectual situations.

IH@! YIS IR Siigs Rl w® e T 8

Correct Ans : B

Subject : Child Developement

Q.No: 129 Which of the following can be identified as a child's problem in development of intellectual skills and acquisition of background
2476877 information?

Frafiiea & 9 59 aifss IRuDar SR 11 31 gaEel & T80 $31 &1 IRuSdl § TP 9 31 901 $ &9 | Tgar o 96l 82

Difficulty in walking

A
e | HioAs
Difficulty in doing mathematics
B
TR HA & BieTR
Difficulty in playing outdoor sports
c
TER WA G H oS
Difficulty in eating
D

A & o
Correct Ans : B

Subject : Child Developement

Q.No: 130 Which of the goal orientations does not help us in understanding students' learning and performance?
2476878

BH-T AT ifrgRdienRor fGenfiat & WRem oiR yewl &1 gHgH § gHRI Heg T8l HRdT 87

Learning goals

A
Rreror & @eg (@ Mew)
Performance goals

B
P F A9 (RBRAY Tie)
Work-avoidance

C
M § ST (3P SfAigeH)
Behavioral goals

D

IeR wed (FRfoma M)

Correct Ans : D

Subject : Child Developement

Q.No: 131 Humanistic approach to motivation came into existence in the:
2476959

SR & foIQ AFadarard! e ¥ 3ifaa # S
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A 1940's

1940 ¥ TF
1980's

1980 & TP
1990's

1990 ¥ TTF
1970's

1870 & F
Correct Ans : A

Subject : Child Developement

Q.No: 132 Which of the following approaches of motivation uses extrinsic motivation as their source?

2477053
SiftiRon % Fafafea # @ o a1 eRe, s SRR #1 orn Fid F & § ITE B 82
Behavioral approach
A
g e
Humanistic approach
B
AFaarEaTd e
Cognitive approach
Cc
TP TR
Socio-cultural approach
D

HIIH-ep i DI
Correct Ans : A

Subject : Child Developement

Q.No: 133 According to John Dewey which of the following is not a step-in problem solving?

2477560
S St & SguR Fufifed § ¥ S1F9-91 S G S IR T8 87
Recognition of problem
A
T B A
Analysis of problem
B
JreT o1 faeiwor
Suggestion of possible solution
C
THIfId FHIYH T g9
D Avoiding the problem
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T § §T
Correct Ans : D

Subject : Child Developement

Q.No: 134 Higher rate dropout from school impact which area of achievement of child having behaviour disorder?
2477628

Wd Blgd 3 36 R Y TIIER PR aIa 923 B IUA BT HIF-I1 8F gHIfad g g2

Mental health

A
AR W
Social adjustment
B
1TSS GHRIS
Criminality
C
ST
Educational achievement
D

e Iuwfsr

Correct Ans : D

Subject : Child Developement

Q.No: 135 In which year was the United Nations (UN) Guidelines for the Prevention of Juvenile Delinquency adopted and proclaimed by General
2477715 Assembly resolution?

e sroRTy Y Ay & fog Ige Ay fexnfidw 31 g af & HerauT & URaTd gRT SR SR Siva fosam m ar?

1984
A

1984

1986
B

1986

1988
Cc

1988

1990
D

1990

Correct Ans : D

Subject : Child Developement

Q.No: 136 Which of the following skills should the teachers possess in the inclusive education system?
2478091

i) Identifying different needs of the children

ii) Tackling diversity in the classroom

Choose the correct code

el fRren gomedt # Rl & urg FufifRaa § § oF 1 Sia g1 aee?
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i) F= 3! A smazadmarell @ g™ He

i) D& H fafderdr o1 & @

gl BIs g

i) only
A

i) Faa

ii) only
B

ii) $ag

Both i) and ii)
C

i) 3R ii) Mt

Neither i) nor ii)
D

TJdi) T i)
Correct Ans : C

Subject : Child Developement

Q.No: 137 Which of the following terms is/are included in the definition of “special needs”?
2478219

i.Terminal ilinesses

ii.Food allergies

iii.Developmental delays

Choose the correct code

Fofafea # 3 7 RNy saweamar $Y ol ¥ i 8732
i) smafie daiai

ii) ATy Uil

iii) s &

SEETECE

iii) only

iii) Faq
i) and ii) only

i) 3R ii) Paa

i) and iii) only

i) SR iii) Faq
i), i) and iii)

i), i) SR iii)
Correct Ans : D

Subject : Child Developement

Q.No: 138 Congenital cataract is caused by
2478238

i)Some abnormalities during pregnancy
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ii)Inheritance

Choose the correct code

W@ Afes_ FHRUGKIG
i) THTRT % ERA $ SRMERIAS

ii) IRTIHH

el Te g -

i) only

i) Faa
ii) only

ii) ¥aq
both i) and ii)

a1 i) R i)

Neither i) nor ii)

Tdi) TE i)
Correct Ans : C

Subject : Child Developement

Q.No: 139 Which of the following is/are true about the characteristics of emotional and behavioral disorders in children?
2478269

i) Difficulty to learn that cannot be explained by intellectual factors

ii) Difficulty to learn that cannot be explained by sensory factors

iii) Difficulty to learn that cannot be explained by health factors

Choose the correct code

e & JaeTos 3R AaRRIETS Taef ARl @1 faivarel & ar § Fafafed § & = 98 8/3?
i) IRa & B3 PR SIiegs FRe! gR1 quifod T8t o Toar @

i) W B Hf3rE oy Waft FR gR1 aftfamel o e

iii) TR & Piers R WRh sRe! gR1 aftid 78 &1 9ddr &

EEEISES!

i) and ii) only

A
i) S8R ii) Faa
ii) and iii) only
B
i) SR iii) Haa
i) and iii) only
o
i) 3R iii) Faa
i), i) and iii)
D

i), i) @R iii)

Correct Ans : D
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Subject : Child Developement

Q.No: 140 A child with symptoms of locomotor disabilities should be examined by a/an and referred to a/an
2478302
i IRep ST 91l &= 1 S U TR &1 S IR SR T % forg Hehia fosar o =nfee
psychologist, physiotherapist
A
I, fefriRiRe
orthopaedic surgeon, physiotherapist
B
TS A wei, hfoarRite
physiotherapist, orthopaedic surgeon
Cc
faforRfre, Tt A1 oA
physiotherapist, psychologist
D

[EZECIONE AR IR R

Correct Ans : B

Subject : Child Developement

Q.No: 141 Which of the following statements is NOT true about children with learning disability?

2478371

TG BT el A Tl S IR H AR F F B T HYT 97 Tl 82

They face difficulties due to dysfunction of the language area of the brain
A

AR F UTW 8t IR & BRU I HSZA! BT AT S ISl ©

They are average learners
B

7 ofa fugmdf §

Such difficulties arise due to lack of appropriate academic and family environment
(o

IugE e SR ke araRu & g & Wt Hidreal S fdct §

They face difficulties in understanding the directions given by the teacher
D

R gr1 fRu U AET &) wHed § 9% B3Rl $1 WAl ST USdl §

Correct Ans : C

Subject : Child Developement

Q.No: 142 Which of the following is not a law of Heredity?
2478848

fofafed § 9 o srgdfiear o1 Aoy 78 82

The Law of Segregation

TG BT BT

B The Law of Independent Assortment
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e TR0 &1 ST

The Law of Dependent Assortment

3f3ya anffeseur &1 Fgd

The Law of Dominance

Y BT DA
Correct Ans : C

Subject : Child Developement

Q.No: 143 Which of the following describes the processes people use in intellectual reasoning and problem solving?
2479795

ST I T g I B 0 e FefiaRed §  $F ¥ Surd &1 Suh FRdl 8?2

Psychometric approach

A
THIfAfde SurH
Structure of Intellect Model
B
FfS-Txa Alsa
Information Processing approach
(o
T UehHOT SURTH
Performance Sub-theory
D

e Suligia
Correct Ans : C

Subject : Child Developement

Q.No: 144 What is Locus of Control?

2479866
forezor-RI T 32
Can be best understood as the degree and location of what we believe the causes that determine the events in our life.
A
FHR siie # weiell 31 FuiiRd B ara SRl WR g9 St {3y #3d § S9! 37 ofk W & w0 # Jad ol R § JHET S Jabl ©
Can be best understood as concept of control over life
B
SfaH TR R Bt SGURT & ¥ H oY St T § GU o 9%l §
Can be best understood as locus focal point of control
c
Frem & $% fig & w0 F Yo 3t ke & THI O IHAT 3
Main point of understanding.
D

g &1 g1 fog)
Correct Ans : A

Subject : Child Developement

Q.No: 145 Which is the lowest level of the hierarchy pyramid?
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2479891

TeTEH RIS &1 Faan wR & 1 32
Safety needs
A
TRET BT AT DAT
Physiological needs
B
foharee Srrazgear
Esteem needs
C
FHI BT SHraRgeBd
Need to belong
D

ST B TG HAT

Correct Ans : B

Subject : Child Developement

Q.No: 146 Which of the following is the source of motivation in the socio-cultural approach of motivation?

2480032
SR % wrfoRe-wiwplos efwi § Fufufad 3 § $19 sftiRon o1 9 82
Extrinsic
A
Sferey
Intrinsic
B
iR
Both intrinsic and extrinsic
C
Siafee SR afewRs QFF
Neither intrinsic not extrinsic
D

7 3fiale 7 sty
Correct Ans : B

Subject : Child Developement

Q.No: 147 Latest researches prove that hippocampus, a small organ in the temporal lobe of the brain, can determine how learning differs between
2480264 poys and girls. Which aspect of learning is hippocampus associated with?

TG Y Wid PRa € [ Rulihrw, Afkss & 2rRw did § T siel 347, 8 uiia o3 goar § & as! ok wsfeal & fiw dian & Fm siR g1

i, e ¥ g Teq @ Wdftd §2
Reading

A
YT
Fine arts

B
it e

C Kinesthetic
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Memory

wf

Correct Ans : D

Subject : Child Developement

Q.No: 148 Which one of the following does not involve interaction between the teacher and the pupil, despite plays an important role in factors

2480626 affecting learning?

fRieor S yHIfdd F a1 RS H 1P Aeayyl yfte! AU gU S 3 e Rie ok o1 & &9 dag T e § 2

Teaching
A

Rregor

Instruction
B

=

Tuition
C

R

Learning
D

R

Correct Ans : B

Subject : Child Developement

Q.No: 149 1If a school has a gender-biased curriculum is causes-

2480738
Ifg et wpa # fRivT- it Ulow=af AT e & B-
Equality
A
HqHMEAT
Discrimination
B
Agurd
Socialisation
c
FHTSIHRO
All of the given options
D

w o b fiwe

Correct Ans : B

Subject : Child Developement

Q.No: 150 Which among the following is the objective of ICDS Scheme?
2482205
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7 A 3 $H, STy WM 31 Igexy Tl &2

To improve the nutritional and health status of children in the age group of 0-6 years

A
0-6 ¥ Y WE & =l & U901 Ud W TR | GYR HAT
To lay the foundation for proper psychological, physical and social development of the child
B
T= F JR ARwE, IRING 3R W e 31 emyR fAfifa s
To reduce the incidence of mortality, morbidity, malnutrition and school droup out
c
TRURREAT, Geg-aR, FUINUI, TUT I5d BieH $1 &1 H HH HAT
All of the given options
D

fou o ot fawe

Correct Ans : D

Subject : Child Developement
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